Beowulf V. Grendel Evidence Gathering Sheet

The Prosecution
Name:

	Beowulf is innocent because: _______________________________________________________________________________________________________________________________________________________.

Evidence from Grendel and Beowulf supports it:
· First, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________
· Second, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________

· Third, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________


	


	Grendel is guilty because:
 __________________________________________________________________________________________________________________________________________________.

Evidence from Grendel and Beowulf supports it:
· First, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________
· Second, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________

· Third, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________






The Defense
[bookmark: _GoBack]Name: 

	Grendel is innocent because: _______________________________________________________________________________________________________________________________________________________.

Evidence from Grendel and Beowulf supports it:
· First, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________
· Second, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________

· Third, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________


	


	Beowulf is guilty because:
 __________________________________________________________________________________________________________________________________________________.

Evidence from Grendel and Beowulf supports it:
· First, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________
· Second, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________

· Third, 
____________________________________________________________________________
____________________________________________________________________________
____________________________________________________________________________
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